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Hundred Years War was fought during 1337-1453
between

(A) Russia-England (B) Russia-France
(C) England-France (D) England-America

The most abundant of all the cells in blood are

(B) Erythrocytes

(D) Leucocytes
n the two

(A) Neutrophils

(C) Thrombocytes
re sailing in the sea O

Two ships a \
side?s i)fllzjl lighthouse. The angle of elev?u%r;
of the top of the lighthouse 18 obgervedlfr?he
the ships are 30° and 45° res .ecuvell))/. e
lighthouse is 100 m high, the distance betwee

the two ships is

(© 273 m S om 2
(C) 273 m (D) T

In visual representation of a painting Germania
wears a crown of Oak leaves, as the German

Oak stands for

(A) Rich heritage (B) Diversity

(C) Heroism (D) Patriotism

Four ladies A, B, C and D and Four gentlemen
E, F, G and H are sitting in a circle around
a table facing each other. No two ladies or
gentlemen are sitting side by side. C who
is sitting between G and E is facing D. F is
between D and A and facing G. H is to the
right of B. Who is sitting left of A ?

(B) H
(D) F

(A) E
© G

Three unbiased coins are tossed. What is the
probability of getting atmost two heads ?

@) 7
2 (B)

(D)

Al LI Ny P

© 3
8

;I'he power ?f accommodation of the eye usually
cereases with ageing. Thig condition is called as

(4) Astigmatism

(B) Myopi
(C) Hypermetropia yOpla

(D) PresbyOpia
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1337-1453 & 4R 100 FHTa Ig &
st gam |
(A) T9-grfe (B) ¥H-%d

(C) Fte-wia (D) §refg-amfam
W i @ft AfRreRre # Te weE A 7 w4

AL ?

(A) e (B) Theirarsed
(C) uraTEeH (D) FFEERE

3 STE T TgeEsd ¥ ARt i wmE AW R E |
ST & W13eE=y & Y w1 =i o Hk
30° 3R 45° 2 | aft emgeETSE 100 HX S &,
a3 STeTel o sfter St gt ot € 7

(A) 200 Ht (B) 173 H1

(C) 2734t (D) 300H1

U o ¥ el e foreor 8 StifEn A IS
¥ Tl 1 T g gEAT g &, THA IMEAw

% ferg amman @ |
(A) g% forrad (B) fafarwar

(C) =t
4ufgemd A, B, C3fR D a1 4 TYE,
F, G 3% H U gamsR o5 & =

3R T g B g@ HH 43 & | PR

A mfve a1 ey wrH-we T AS 7 |
C,GIREFHa a3 g sinsan g Eliid
D#FI R |F,GH IANG@FHD  Gles
3 A F ST AT ] | H, B & 31T 3T
¥ 1 A%t SR P AaT R 7

(A) E (B) H
©G (D) F

T emfira foehl Y SoTer e 8, s @
1 3t 3t e B <hY Sfreran /g ?

A 2 ® 1
4

D) 3
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10.

11.

12.

13.

14.

15.

Haryana had only

when it separated from Punjab.
(A) Six (B) Zero
(C) Two (D) One

The name of the customs union formed in 1834
at the initiative of Prussia and joined by most
of the German States is

(A) Zollverein (B) National Assembly

(C) National Guards (D) Estate General

A batsman scored 110 runs which included
3 boundaries and 8 sixes. What percent of his
total score did he make by running between the
wickets ?

police range/s

(A) 55% (B) 54%%
(C) 45% (D) 451—51%

Rama ranks 16™ from the top and 15% from the
bottom in a certain examination. How many
students are there in the class ?

(A) 33 (B) 30

(©) 32 (D) 31

The election system in which the candidate who
is ahead of others, who crosses the winning
post first of all, is the winner called in
(A) Dual party system

(B) Plurality system

(C) Indirect democracy

(D) Direct democracy system

Malfunctioning of kidneys can lead to
accumulation of urea in blood, which is called as
(A) Lardosis (B) Uremia

(C) Dialysis (D) Uricomia

The device that can detect the presence of a
current in a circuit is
(A) Diode

(C) Resistor

In which among the cases police can arrest a

person without a warrant ?

(A) When his presence in the court is assured

(B) Any person commits a non-cognizable
offense

(C) Has committed an offense punishable with
imprisonment for a term lesser than 7 years

(D) Has committed an offense punishable with
imprisonment for a term more than 7 years

EIP,

ey L
Eﬁ‘ﬁm

(B) Voltmeter
(D) Galvanometer
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11.
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14.

15.
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USTE | e B 9T giEn # e
ym Y |
(A) % (B) A
©) R (D) T
YT <hY YA W 1834 T &+t FEed g H
g Fra@ st A T 92
(A) SEAfA (B) AT e
(C) Y MEH (D) TRE SR

& FeoE 110 W s &, o 3w o
g wFF T | Rl % i g @w A

Wtﬁiﬁfﬁﬂmmﬁm%?

(A) 55% (B) 54%%

(C) 45% (D) 45>% %}iﬁ
1 B0

o et & T <k € TS 16
AR & 154t 2, e d gt fohad

AT T

(A) 33 (B) 30

(C) 32 (D) 31
agg#ﬁmﬁaﬁazaweﬁshﬁﬁm

m%,sﬁw@%éﬁmmﬁmm%,
farraT el 8

(A) Teeeta yoredt

(B) 3Tehcd JUITeAT

(C) T TArehad

(D) Scdel Aisha= JoTTe!
ﬁ%wﬁﬁﬁmﬁgﬁmaﬂmtﬁm
2, WA AT @R ?

(A) dATSITEE (B) L

(c) safatea (D) IRRITAT
aggﬁﬁfa‘r@qﬁwﬁ@ﬁgﬁﬁm@rﬁaﬁ
HT L Eh

(A) SIS (B) SeeHIX

(C) wfeiiers (D) TreaAHIX
%Hnmé,ﬁg%ﬂ%@ﬁaﬁa@ﬁmm%
PRER T gerdt & 7

(A) e ararer 3 Sedh sufef gifea g v @

(B) S safa 1 IS STERA STITT HTll &
(©) 7 Qe & A ST T HIETE ad G
arquy foran @
(D) 79Tl & Hfres vafer it FrEr I3
=i sty ReT R
X25
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The International Military-Technical Forum
“ARMY 2021” was inaugurated at

(A) Gurugram, Haryana

(B) Kubinka, Moscow

(C) Ratnaputra, Sabaragamuwa

(D) None of the above
Haryana has district jails.

(A) 16 (B) 13
(C) 15 (D) 14

The Viceroy who took initiative in creating
elected local government bodies

(A) Lord Harding

(B) Lord Litton
(C) Lord Warren Hastings

(D) Lord Rippon

The Council of Ministers is Gl
collectively responsible to the f'd 3
(A) Lok Sabha (B) RajyaSabha  H&SE
(C) Prime Minister (D) None of the above

A________is the smallest unit of data,
the computer can represent.
(A) Word (B) Bit
(C) Nibble (D) Tables
reacts violently with cold water.
(A) Magnesium (B) Mercury
(C) Calcium (D) Potassium
Section 159 of Code of Criminal Procedure,
1973 (Cr PC) empowers the Magistrate
(A) to order magisterial inquiry
(B) to restrain police investigation
(C) both (A) and (B)
(D) none of the above
The ratio between the length and the breadth of
rectangular park is 3 : 2. If a man cycling along
the boundary of the park at the speed of 12 km/hr

completes one round in 8 minutes, then the area
of the park (in sq. meters) is

(B) 307200

(D) 153600

(A) 15360
(C) 30720
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. Aty d=r-aeIhl HH
IqETeA Fel fora T ?
(A) T, BREmn
(B) Ffsieht, ARl

(C) TeTge, Fermg el
(D) S F & HE T

(©) 15 (D) 14
e e 3 Fatfea T e et s

THfiaferg e &9 & e i sawer 2 7
(A) SIRET (B) TSa@T_ '
(C) wurwft (D) I9a & @ IS T
2 A Il DA THE § R
FO Ja i o 1 € |
(A) T8 (B) fae
(OREES! (D) 2=cq
32 F 9ry oSt @ Srfrfshar e 2
(A) TfifsEy (B) URT

(C) Hfcxraq (D)

@ gfsear gfedr, 1973 (i) i anr 15
AR ol AR A ¢ .

(A) TffEae Site & et

(B) gfer e ST T % fer
(@) (A) 3R (B) 3

(D) I & & H1S Tel

TF EAER TS T 3
Sl A 3 @ 2 B |‘Tﬁi@
ok B EE % AW W

(A) 15360
(C) 30720
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24, 'The total number of Parliamentary seats in 24. P T Uy W3
Haryana is
(A15 (B) 12 ol ®) 13
(C) 10 (D) None of the above ©) 10 (D) i i3
25, Cardiac muscle tissue is a contractile tissue 25. Fiiegmes TS I T ﬁé T
present only in Faa ﬁ%%&‘@imm% t
(A) Liver (B) Heart (A) fosx (B)% '
(C) Pancreas (D) Kidney (C) Iy (D) ?‘;
In a first, India started the cultivation of 26. 9RAA e <
26. Asafoetida (A) %Wﬁgqa? kil {RR q?l ?
(A) Cold Deserts of Himacha] Pradesh B) IWEE ¥ = %&W
(B) Cold Deserts of Uttarakhand (B) Eéiﬁ?mq
(C) Cold Deserts of Ladakh (C) Tsr@ %5_3%}&@17{
(D) None of the above (D) 39l 1 § 1 TE
27. The State Finger Print Bureau wag foundedin | 27, whEONH =R
Haryana in s oft 7 Wﬁzqﬁﬁwqq F i
(A) 1997 (B) 1972 (A) 1997 ®) 1977
(C) 1991 (D) 1975 (C) 1991 (D) 1975
28. What is the other name for bread mould ? 28. 91 U o oy AT F1 2 ?
(A) Yeast (B) Penicillium (A) e (B) Ufefiferam
(C) Peziza (D) Rhizopus (C) YT (D) TSy
29, gﬂ_ﬁr?bers of USMCA (which replaced 29. TR % wa (ﬁ%‘ﬁmﬁmr«ﬁ%)%
are W‘ TR ﬁ
(A) United States-Mexico-Canada (g) ?E‘E%;g@ e ~E
(B) United Kingdom-Mexico-Canada (B) -
(C) United States-Mongolia-Canada (C) TFFI T 3riifer- ~FATeT
(D) None of the above . - (D) I H B A1 T
30. Whatis the maximum strength of the Lok Sabha | 30, wRa ¥ dfyyr B IR ey § et
envisaged by the Constitution of Indja ? 1 ey e R
(A) 544 (B) 545 (A) 544 (B) 545
(C) 552 (D) None of the above (C) 552 (D) I o | Hid T
31.  The State tree of Haryana is 31. wfammw ST 947 ¢
Eipsi (A) Ficus Benghalensis (B) Ficus Religiosa (A) B30 SMRiRE  (B) e feeffsratar
tén (C) FicusRacemosa (D) Noneofthe above (C) wrsehe Wt (D) I A
32. Inhow many different ways can the letters of 32. W= 'LEADING’ & erl =Y -3 e
the word ‘LEADING’ be arranged in such a . ¥ T TR anf@m form < g i
way that the vowels always come together ? el e e T w2
(A) 360 (B) 5040 (A) 360 (B) 5040
(C) 720 (D) 480 (C) 720 (D) 480
33. Who among the following Indian wrestlers has | 33, ﬁmf%rf\@a | ﬁ o sweda, RNl 3 31\”%1,
won the 1501b (68kg) FloWrestling invitational TR 15079 (68 Fhel) TR 3feaTe
meet in Austin, Texas ? Iﬁzﬁsﬁm% (. "
(A) Bajrang Punia  (B) Sakshi Malik e (A) SSRTYHA (B) e Hi%_l%
(C) Vinesh Phogat (D) None of the above E;{-gg (C) ﬁeﬁ'l B (D) SWH AR w1 T
.5- X25
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H{ll'y:lna Roadwa . i _
Roadways Engin
(HREC) is situated at ginectitgsCorporation

(A) Sirsa (B) Gurugram

(C) Panchkula (D) Faridabad

l{ P is taller than Q but shorter than R, S is
shorter than R but taller than P and T is shorter
than R, then the tallest is

(AT (B) R

©) Q (D) P

are the links to the
pages within your own website.

(A) Text link

(B) External links

(C) Uniform Resource Locator (URL)
(D) Internal links

Which value replaces “?" in the following

figure ?
42 36 38
3 @ 15 3 @9 10 @20
6 9 19
(A) 1 B) 4 L
() 3 (D) 2 ay

Which of the following cities in the Haryana will
be developed as a Smartest city ?

(A) Gurugram (B) Sirsa

(C) Sonipat (D) None of the above

In a right an%]ed triangle, if the length of base

is 8 cm and
hypotenuse is

(A) 10 cm
(C) 2cm

(B) 14cm - 4
(D) 48cm * prs
_ gotthetitle of Shamsul Ulé/n“%
in 1904 by the then British Govt.
(A) Banabhatta
(B) Balamukund Gupta
(C) Altaf Husain Hali
(D) Surdas
What is the population density of Haryana as
per census, 2011 ?
(A) 855 persons per sq. km
(B) 666 persons per sq. km
(C) 573 persons per sq. km
(D) 733 persons per sq. km

eight is 6 cm, then the length of

p
A

a

-6-

3.

35.

36.

37.

38.

39.

40.

41,

[i] %4l
Gt
B!

(A)

(A) R

(GREEN

R p, QAT RI R

g P& T § 3T, R

A) T

©€) Q
A7TqeRY 379 ATETEE

g |

(B) =& foreh

(C) g fead witehet (URL)

(D) iafe feren

$ Rg g o § 97 3 T T H-HT A

g 7

(B) TeA™
(D) BT
Ao, S, RABIY
3 ST 8, A wE T g
(B) R

(D) P

¥ iR g &

(B) 4

© 3 (D) 2

afon 3 Frerfifaa 3 @ frg Tt Ted
T el % &9 ¥ frewfga foran stam ?
(B) T

(©) (D) I 8 A IS Tel
ok gy gt 1 A SR i e
8cm%@(§ﬁl§6cm%,?ﬁeﬁﬂf‘ﬁéﬂf§%

(A) 10cm (B) l4cm

(C) 2¢cm (D) 48 cm

_ ! oA 1904 ¥ fafeer @R g
I -3 -3 T I € e |

(A) STOE
(B) STeiqha
(C) =TS
(D) qW&E
2011 Y FTHIAT & FFAR FRATN HT FTHEEA
ek ok

(A) 855 =afa wfa =i foelt

(B) 666 =3 i &0t ferrft

(C) 573 & forrlt

(D) 733 =afaa i =i fepeft
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46.

47,

Select the correct answer from the choices
given below to continue the series,

DILQTYBG?
(A) ]
(C) H

(B) O

D) 1

19 is related to 361 in the same way 21 is
related to
(A) 400
(C) 441

(B) 324
(D) None of these
Which of the following Agricultural Universities

of Haryana has developed the disease resistant
Pea variety HFP-1428 ?

(A) ICAR-National Dairy Research Institute,
Karnal

(B) Chaudhary Charan Singh Haryana
Agricultural University, Hisar

(C) Maharana Pratap Horticultural
University, Karnal

(D) None of the above

Sur Samman Award of Haryana is given in
which field ?
(A) Cinema
(C) Literature

(B) Sports

(D) Agriculture
Sections 39 and 40 of Code of
Criminal Procedure, 1973 (Cr PC)
make it mandatory to give information
regarding commission of certain

offences. Such information can be
given to

(A) local TV channel

(B) alawyer

(C) either to a Magistrate or to a police officer
(D) a police officer only

The positions of the first and second digits in
the number 94 3 1 6 8 7 5 are interchanged.
Similarly, the positions of the third and fourth
digits are interchanged and so on. Which of
the following will be the third to the left of
the seventh digit from the left end after the
rearrangement ?
(A) 4

© 6

B)1
(D) None of these

.

OF

i © 6

SZCFES,S:‘
42. ﬁiﬁ'ﬂé"{@mqﬁ
DILQTYRG,
(A) ]
43. 3M€“93mgmmwﬁh§»1
Haa B | ’éﬁ\\\\gm
(A) 400 ® 14
O8O b
44, ﬁa%ﬂ?ﬁﬁ
ﬁﬁnngifqagﬁﬁmnammﬁﬁmm
ICEat:n) ¥, 428 =y
(A) - .
mam; WMWW,
(B)ﬁmﬁimﬂﬁﬁghmm§ﬁﬁmﬁmﬁ
(C) TRV YT S fy
HTA e,
(D) ST W & 45
45. i g ame -
R sm | %
(A) R (B) &=
(C) wifeg D) F
46. < sk wfea, 1973 (st & e 39
3 40 F 70 5 STl 3 whym 3 an

SRR < 3t R | et s

I < T ER R |

(A) T e =

(B) T

(C) wivrge an gfera arfirrrtt

(D) e gfera sifernr .
47, 94316875 % T MW I A

YT T 7 et e & | 9

SR i e et v o o

a1 et T ST R | ¥ S

3 e w9 @ e o & 3

FA-a1 8 ?

(A) 4 ® !

wj(386§3

70|

2
-
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Choose the correct option for x in the following

sequence.

1,4,9, 16, x

(A) 25 (B) 20
(C) 18 (D) 22

Which type of reproduction seen in Hydra ?
(A) Budding (B) Fission
(C) Regeneration (D) Fragmentation

Select the related word from the given

alternatives.
West : North-East : : South : ?

(A) East (B) North
(C) North-West (D) South-East

The difference between a two digit number
and the number obtained by interchanging the
positions of its digits is 36. What is the difference
between the two digits of that number ?

(A) 3 (B) cannot be determined

9 (D) 4

HaryanaPolice Academy (HPA) atMadhubanhas
been imparting training to the IPS Probationers

of Haryana since
(A) 1999 (B) 1966

(C) 1988 (D) 1977

How many 9’s are there in the following number
series, which are immediately preceded by
3 and followed by 6 ?

39693939396363956956939639
(A) 2 (B) 3

C) 4 (D) None of these
Glycosidic bond is formed by the process of
(A) Annotation (B) Dehydration
(C) Hydration (D) Rehydration

Database entries are called
(A) Form (B) Fields
(C) Records (D) Tables

Each table appear: ;
callod ppears as a spreadsheet grid

(A) Datasheet (B) Queries

(C) Record (D) Tables

48.

49.

50.

51.

52,

53.

54.

39;

56.
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iR #yare i x 3 fore @ foerea g |
1,4,9 16, %
st
(C) 18
aregr  FA-8 T T T e @ ?
(A) TFeH (B) ferasa
(C) g3
mmﬁﬁﬁﬁﬁuﬁwaﬁqﬁm
afeem ; IA-d : : GfEr s 7

(A) @ (B) 3

(C) IT-ufz=M (D) aféror-gd

3} sient aTelt T EEAT 7R ITH Hehi W H
Teor § T TEAT T R 36 ®, I I T&H
2t 37t 3 o= o R Rt @ 7

(A) 3 B) Truffea =2 forar T wwar
<9 (D) 4

wiaon 3 aRehees smsdie st agE % giam
gfere sl (Tadie) o & TRTEm S W R 7
(A) 1999 (B) 1966

(C) 1988 (D) 1977

& ¢ wee gEen # fora o7 W R ek am 3
IRAB 6% ?
39693939396363956956939639

(B) 20
(D) 22

(A) 2 (B) 3
(C) 4 (D) 378 & =hiE Tl
I fss wi-e R wfpm A aAm e
(A) TRNE (B) Fstefientr
(OEEEISE (D) GASTelTaRl
%aaﬂﬁﬁ@ﬁﬁ—_aﬁgrmél
(A) B
(C) T
Ve 2o U Teiie firs % w9 #

|
(A) Serfle
(C) Tw=rig

{j.-
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60.

6l.

62.

63.

There are Six persons A, B,.C,D, lf..:uul i -(7 Il\
e sister of F, B is the brother of E's _In.l.s’l?.njt ‘.
i the father of Aand grandfather of I [here
are two fathers, three brothers and a mother 1n
the group. Who s the mother ?

(A) E (B) A
() B (D) D
When _ bits are grouped together as a
unit, they form a byte.
(A) 8 (B) 5
(C) 6 (D) 4
]_o_gig_ is equal to
log8
(A) 3 B) -~
5 V8
1
© 5 o) 1
4

\VhiCh damong lhc f()]lowing has a largert (A ™ :‘
refractive index ? gp.
(A) Diamond

(B) Ice
(C) Ruby

(D) Carbon

A is a column in a table that
contains a specific piece of information within
arecord.

(A) Field
(C) Reports

(B) Datasheet
(D) Filter

The South range of Haryana Police do not
include which among the following districts ?
(A) Palwal (B) Rewari

(C) Jhajjar (D) Mahendragarh

Pointing to the woman in the picture Rajiv
said, “Her mother has only one grandchild
whose mother is my wife”. How is the woman
in the picture related to Rajiv ?

(B) Sister

(D) Wife

(A) Data inadequate
(C) Cousin

Proteins with catalytic power are named as
(A) Acids (B) Enzymes
(C) Bases (D) Hormones

9.

57.

58.

59.

60.

61.

62.

63.

64.
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A'“'F'D'F’w':?ﬁ'”‘ﬁﬁ?‘-lc;:ﬁ |
ll.li?ﬁqﬁimm:ja”)!\ FrEEy

“ 1 s
ARV 2 o oy s F
2 ’ m.’ﬁr . s
gl d 7 TR
) & B) A 98
© B (D) o
T4

ﬁmwmf’w¢mqwm
gqﬁmﬁ'mm?mzwwmé;
(A) 8

(B) 5
) 6 (D) 4
108 VB firerks s 2 L
log8 e
1
(%) < B) L »
8 ) Jg
1
(© 5 (D) %
ﬁn%ﬁaaﬁﬁﬁmm@waﬁmafwg?
(A) ¥ (B) %
(ORuics (D) ey
T 5 O e 2 et o
feritg & i s 1 @ fafire ym g 2
(A) Fieg (B) Zamefre
(C) feard (D) free
it yfera % i 9 4 frafafas a3 )
1 it 78 2 7
(A) Taad (B) tarel
(C) T (D) WEETZ
I 1 G HfEa i 3R T Fd g
Tt 3 o, * IaF H ) T O
tREhiai G oeh ¥ | @R A
wfeen 1 Tt & F FEu R ?
(A) TRITE Td  (B) T
(C) == e (D) el
T R A e e A
(A) = (B) T
(C) &m (D) T
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P
S
%5 Haryanyy - fra-difva Rrey
as ar: . i hg EERR T =
fundeq \—-‘_Paralmlltarybattahons 65. ®fEmm #§ : e Cri e
Calle?l thbyl tf}e Centra) Gove_rnment that are s sfoam & f@ ferd
€ India Resepye Battaliong, FEISAT R 7
(A) 3 ®B) | (A) 3 (B) 1
© 4 D) 2 ©) 4 (D) 2
6. Pipes A and B can f]] 4 uny. i1 Sand 6 hrs | 66. uEY A iR B@iﬁaﬁﬁﬁgm: 5 31;?( 6ﬂ%ﬁ§tl
TeSPectively. Pipe - can empty it in 12 hrs, If ThA §_| TET C I 12 d ﬁmﬁ“ i ?hﬁ” .
all the three Pipes are opened together, then the afe it et 1 o Ty e e s, B
tank will be fifled ip & WA T ForaaT gm0 7
(A) 4-;— hrs B) 113 pes (A) 4% He (B) 1% ue
17
. 8 =
© 32 tes © 38 s © 3% R @) 377 W 23
; A
67.  Punjab Police Rules were framed in 67. INE From e AT o 7 b
(A) 1966 (A) 1966 (B) 1934
) (B) 1934 D) 1044
(C) 1954 (D) 1944 (C) 1954 (D)
68. An electric iron

of resistance 20 Q takes a 68. ZOQFﬁﬁqﬁ@ﬁgﬁﬁﬁSAﬁﬁm%‘
current of 5 A. The heat developed in 30 s is 30 ¥he § fasfyg T §
(A) 0.4 x10%] (B) 3.5x 10y
(C) 1.5x 103

(A) 0.4x10°] (B) 3.5%x10%]
(D) 2.4 x10%] (C) 1.5%x10*J (D) 24x10*]
69. The First Computer Center of 69. =¥ 1979 & e 9T =1 aen YA g
Haryana Police came into existence Fel e 3T o7 7
in the year 1979 at m B) U™
(A) CKandigarh (B) Gurugram (A) (B)
Faridabad (D) Karnal (C) wiiTmETe
70.

(D) ==
Six friends P, Q, R, S, T and U are members of 0. P,QR,STaxy TR A U
club and play a different game of Football, Cricket,

T % W R 2l -3 B
Tennis, Basketball, Badminton and Volleyball, ™, T, o, ST,
T who is taller than P and § plays Tennis, Tpe M et Aoy L I
tallest among them plays Basketball, The shortest Tﬁh%ﬁPﬁsﬁm%, %ﬁﬁéﬂm\%l
among them plays Volleyball. Q and § neither play L Ha% | sﬁ?ﬁagg?' B 31'@2?{18
Volleyball nor Basketbalt. R plays Volleyball, T g él Ei u! 21 ot bk T® aﬁhﬁl'%la
between Q who plays Football and P in order of Teler | R o @;l%l T:;r
height. Who among them plays Basketbal] 7 Fﬁﬂé ~ _@aﬁiil ST e | T
?‘"ﬁ T Q 3R pHefry
(A) U B) S ?A) U%ﬁﬁ'réama 29
N e dR base | e Egg R
71. is an entire database list of 1. .
information. \Wﬁ@“‘l‘ﬁ m@% |
(A) Fields (B) Form (A) Free B) wis
(C) Table (D) Records (©) ‘éﬁa D) J
. An accurate clock shows 8 O’clock in the ] . e
S mgr:ing. hThrdougltl tho‘yvvh natty ‘éﬁ%gﬁ“h“’i" . %?;“EI\E'@Q R T 1 dymey pX-c b
ate s @
tzhf) 'rc‘:i;%gk i‘;ilnthargftern00(1113 ‘)’ 1440 oS ﬁmﬁ ? &‘N e H '§§ ﬁﬁe{ T Eak o
(A) 180° (A) 180° :
(C) 168° (D) 150° (C) 168 (B) 144
X25

(D) 150°
-10-
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7.

o)

o

16.

’

m,

icultural Ministry of India recently
s signed 2 Memorandum of Understanding
(MOU) with which of the following tech. giants

pilot project in 100 villages of six states
digital agriculture ?

The A8!

fora
(0 promote
(a) Google

(B) Microsoft

©) Facebook

(D) None of the above

complete operating system that works on
a desktop computer, notebook computer or a
mobile computing device is called

operating system.
(A) Real time
©) Stand-alone

(B) Server
(D) Mobile

Study the following arrangement of digits,
etters and symbols and answer the question
given below.
F14KB59#DR2#7TMG%H
VT38*1JA

If all the symbols are dropped from the above
arrangement, which of the following will be
the third to the left of the seventh letter/number
from the right ?
(A) M

€D

Tolocate a web page using a browser, you need
in the browser’s address

B) G
(D) R

to type its

or location bar.
(A) External link
(B) Hyperlink
(C) Internal link
(D) Uniform Resource Locator (URL)

The decomposition of vegetable matter into
compost is an example for

(A) Replacement reaction
(B) Redox reaction
(©) Endothermic reaction

(D) Exothermic reaction

73.

74.

75.

76.

77.

S2CFES - S3

: E‘Fﬁﬁméﬁ%%ﬁm%?ﬁ
Wﬁmé’fﬁmm%wo,ﬁﬁ@
e o % f it 3
By I g
(A) T

(B) HTgShIHITE

(C) g

(D) Jadae § | i T

@ ‘{?fSﬁqﬁfr firen & @ Yl F,
Fitegeh et A T HiTder S g
HA 8 e e wewma ® |
(A) feaerarm (B) T

(C) Wre-3eiH (D) e

I, Rl o fomt & frafofea e #
areg Ffg i A i e v s iR |
F14KB59#DR2#TMG%HVT38*
1JA

7R Iwie e @ wft = S g fan
ST, A aTd A G e/ F A 4 den
faferRaa # i g ?

(A) M B) G

(C) D D) R
Fﬂﬁmmmmaﬁammwﬁ
¥ RoiT ST TS R A1 A A
39%0 Zﬁqmiﬁml

(C) it foreh
(D) i fE sishe (URL)

et gard o e § fame Ll
TF FE ¢ |

X25
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78.  Acandoawork in 15 days and B in
20 days. If they work on it together
for 4 days, then the fraction of the
work that is left is

8
(A) — B) 1
15 (B)
7
o 1 D) —
© n (D) =
79. Three positions of a die are given below.
5 3 5
3 5 4
6 4 2
Which number is opposite to 5 ?
@ (B) 2
Bae (©) 3 D) 1
80. The is a special dialog box consisting
of all the fields in table.
(A) Records (B) Data form
(C) Fields (D) Tables
81. Choose the one pair which does not belong to
the group.
(A) 22:46 (B) 1:4
(C) 10: 24 (D) 8:18

82. E-Shram portal is a National database of

(A) Women workers

(B) Divyang workers
(C) Unorganised workers
(D) None of the above

83. The Agncu]tural produce in Haryana is being
ulated under
% Haryana Agncultura] Produce Markets
(B) Punjagéxlgncu]tural Produce Markets
© ‘l;unjai% é\lgncultural Produce Markets

(D) None of the above
84. Choose the missing term.

BA,DC,FE,
(A) GH (B) HG
(C) IH (D) None of these

85. 24 carat gold is alloyed with either

or copper to make it hard which can be used to

make ornaments.
(A) Lead
(C) Zinc

(B) Silver
(D) Tin

-12-

78.

79.

80.

81.

82.

83.

84.

85.

]
ﬂ,i i

lﬁ——.

S2CFES - S3
21 15 feedi 3 ot B 3 20 A A A
e 3 | a2 A 4 o 7 € A 3% A
273 8, o o e T T
8 ® L
ST
© L ® 3
10 N
I T i ) e et A E
5 S > /4
3 5
6 4 : 2
- T 5 % arga R
(A) 4 (B) 2
(© 3 @ 1
oo Foriry g wite & o 2w
vt Hies el € | 3
A) feid (B) 31 ®H
(C) Hice (D)
faw g gt 3 9 ¥R g A o A W
g
(A) 22:46 (B) 1:4
(C) 10:24 (D) 8:18
i T T TG ST ©
(A) HiEel wriswate
(B) e srdararatt
(C) TS sHfHei
(D) 370 | F IS T
it # Yy 3us ot formen aea fatrafia o
SRR ?

(A) TR FR.IR TR Afale, 1971
(B) USITel iy IeuTg TR AfYfam, 1981
(C) USTTe FiY Ieq1e AR HAfuiEH, 1961

(D) 39U | & IS &

i 9 g |

R —

(©) IH ((D) %ﬁaﬁ??ﬁ
24 HE HA ol HoR g9 & fwar

e 3w ffi R e & S smEa R
EANUS CIURCT IR Eecoe &S

(A) Hrar (B) =it

(C) S& (D) f&
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86,

89' If ﬂl

90

91.

9.

%,

%,

inute hand of a clock
30 P;,Tr'as Eal_?t. Towards \alhlch g)lrectxon
po:rlltgu‘?‘hund will point at ?%ﬂgm ]
7 150”m'we5t (D) None of these
0 . 0 people speak Hindi, 20 spez'lk
na 80U Hindi and Tamil,

. 10 speak both Aal
153:,“ ofppeop]e who speak Hindi or

A3

(B) 70
(D) None of these

W xample forunisexual
flower ?

) sunflower
() Mustard

ire 1 ees, then
cost of x meters of wire 18 d rupees,
i he cost of y meters of wire at the same

(B) Papaya
(D) Hibiscus

whatis t
rate ?

T () T yd
© 3 idZ (D) I xd

How many women Hockey players from Haryana
have represented India in Tokyo Olympics 2020
Hockey tournament ?
(A) 12

©) 6

Complete the following analogy.
Shoes : Leather : : Rubber : ?

(A) Chappal (B) Plastic
(C) Latex (D) Polythene

Due to which scheme, Haryana has become
the first State in India to implement the use of
injectable contraceptives as a family planning
measure ?

(A) Gramodaya

(B) Salamati Scheme

(C) Antyodaya Aahar Yojna

(D) Operation Muskan

Malaria is caused by

(A) Entamoeba
(C) Trypanosoma

B) 9
(D) None of the above

(B) Plasmodium
(D) Paramoecium

f)lfa‘l%ana cabinet has approved implementation
egional Rapid Transport System (RRTS)”
Corridor between P ( K
((fé)) iz:;ar?than—Gmugram (B) Delhi — Panipat

tsar—Gurugram (D) None of the above
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86.

87.

88.

89.

90.

91.

92.

93.

94.

S2CFES - S3

G 3:30 T T Ul ) firfe
m9:ooaﬁd€ﬁg§a¢aﬁm§3§f;’h%'
(A) aﬁiTUT"‘TfQ\?m (B) t@
(C) = (D) w7 & T
Th ﬁ59?ﬁ"%aﬁﬂ%%,zam
a‘,ﬁ;gﬂ’?\%aﬁnoﬁﬁamm~r
S SeTd &, L3 S FE s

fid) =1 aftret sierd &

(A) 80 (B) 70_

(C) 60 (D) T & hlg el
freferfiad § A shIH-T1 Thfert T
IEW 2 7

(A) (B) gt

© (D)
a%xrﬁ'aaﬂzmqgadm%,a‘la@naz}
ytﬁaaﬂaﬁrq\m‘mm?

yd
A) T, (B) T yd

_x_dX (D) T xd

Pyl S 2020 % B! IS H A
whififra fran € 7
(A) 12 ®9
(C) 6 (D) I A & HI5 T80
freferfige Tredar guf i |
Eﬁ‘:m::m;? :

(A) I ' (B) wIEH
(C) Ted (D) el
fopm 2w 3 o, g O AR e
W%mﬁaiﬂ:éﬂm\wnﬁﬁh%%mﬁ
Spanfaa S STell ST o1 Jgelt T o 74T ¢
(A) TTHE

(B) WA TS

(C) iIed STER AT

(D) STTRIA Fehr

Tt s SBRoT €l ® 7

(A) TersrHiaT (B) WIHNGTH,

(C) 1@, (D)

i e 3 ¥ e e
g gradts R (SMARATE)” FIER &
Tt A A A 3 -

(A) TR — e (B) few - I
(C) ITTE — eI (D) Iulerd H & 3 Tl

X25

©) X

[ﬂf‘{:’i@

R T

50
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95.

96.

97.

98.

99.

100.

X25

Which of the following Amendment Acts
mISt_:rted the “Fundamental Duties of the
Citizens” in the Indian Constitution ? |
(A) 42™ Amendment Act [' 1‘2
(B) 32" Amendment Act o
(C) 62" Amendment Act

(D) None of the above

Which of the following statements hold true
for the Magistrate’s power to send an accused
to remand under Section 167 of the Code of
Criminal Procedure, 1973 ?

(A) If the investigation is not completed
within maximum period of 90 days the
accused have to be released _

(B) If the investigation is not completed within
60 days he has to be released on bail

(C) The maximum period of remand in
judicial custody cannot exceed 15 days,

after that only sending to police custody
is possible

(D) The maximum period of remand in police
custody cannot exceed 15 days, after that
only sending to judicial custody is possible

P,QR,S, T,UandV are sitting on a bench
in a park and all are facing East. R is on the
immediate right of S. Q is at an extreme end
and has T as his neighbour. V is between T and
U. S is sitting third from the South end. Which
of the following pairs of people are sitting at
the extreme ends ?

(A) UQ (B) PQ

(C) RQ (D) PT

Who among the following is known as Kalidas
of Haryana ?

(A) Pandit Bhatru Qutbi

(B) Deepchand Bahman

(C) Swami Hardev
(D) Kishan Lal Bhaat

Who is the ex-officio Chairman of the Rajya

Sabha ?
(A) The Vice President  (B) The President

(C) The Prime Minister (D) None of the above
If P is a brother of Q, M is a sister of Q and T
is a brother of P, then how Q is related to T ?
(A) Data insufficient (B) Brother
(C) Sister (D) Brother or sister

95.

96.

97.

98.

99.

100.

S2CFES - S3

Wﬁamﬁsﬁm arfirfr g Mty
ﬁ%mﬁ‘qmﬂﬁ%ﬁi%ﬁﬁaﬁ”zﬁm

fpman 7
f g

E%T%T%m 3 s A
® 15 i @ atfer T8 8wl 8, I8 A1
& s Ferera 3 STl ST Eel 8
P.Q.R,S,T, Uity T I Th A AT 3t
Tt o1 7 o frwm B AR IR, SHIHALR|
Q@W@IW%@TTWQ@@%l
v,mﬂ%u%gﬁa%lsﬁm@ﬁté?ﬁﬁm
Waer 2 | e 1 | e At 1 3w wa

W ?

(A) UQ (B) PQ

(©) RQ (D) PT
ﬁmﬁ%ﬂﬁ%ﬁ?&%ﬁ?ﬂmmmﬁm%ﬁ%?
(A) Hfeq swaw Fesll

(B) d9=Ig sIgHH

(C) wrHl ged

(D) oy oIt e

TSI o1 Yo GvIfd shF BT e ?

(A) STt (B) TR

E(I(gwmﬁaﬁ (D) 3ulerd | | =g &
P, QI WE 8, M, QI &4 2 AR T,PH
TR, @ Q, TH o wehw wafera 2 7

(A) TS AT E  B) Wg

(C) sr&= (D) IT§ a1 =&

-14.
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E’;\_ Haryana police female constable 19 sep morning ..o o ia

o lrr Vi}ia_vl':; posic:ion in a row is 13 from the 1. of uw dfa i e = o e 13 siude
ront side and 6 from the back side, how @; I i
. 62, MI@IFH FR a2 3 7

many persons are standing in th

(A) 19 (B) gzén S (A) 19 (B) 20 R

(C) 17 (D) 18 / {ij_'jl)? (D) 18 B
2. 3-3+3-3..... 101 times = I"

\-

@) 3-3+¥3-3%3 1019 =

(€C) -3 (D) None of these e W Saae b+ (D) 398 & #1E FE
3. 2000 soldi i -ﬁ_ﬁ—é %ﬁﬁ : '-T!ﬂ'ﬁ
enougiofofgsfol? "?Orgl;ytadﬂut @ 11}5‘?& 2000 ‘@fﬁ:; FGTQ 20 Joeit o
some soldiers wer - 3 i STy %' afr=hi =1 TIHTq
e transferred to IE}_J;&‘ hIE [ CIC]
another fort and the food lasted it |t T S & 3R 1
for 25 days. How many soldiers S 25 f&at a9 =1 € | fora Afai &1 A
were transferred ? for ma o 7
(A) 450 (B) 500 (A) 450 (B) 500
(C) 525 (D) 400 - (C) 525 (D) 400
4.  Find the missing character from the given 4. fuwe faswhedl § @ g 98 ! 9 # |
alternatives. 20160] 4
20160] 4 ? 4
3 4
480
480 8 96 | 24 2
96 | 24
(A) 1140 (B) 3240 (A) 1140 (B) 3240
(C) 2880 (D) 800 (C) 2880 (D) 800
5. In 1955, S. R. Rao began excavation of { o 1955 ﬁ q. AN, 79 ERC T BSHT T E3
Harappan site at HaTs Y oht ot 7
(A) Kalibangan (B) Lothal (A) A= (B) wtered
(C) Dholavira (D) Mohenjodaro (C) (D) HiEAsiEs!
-~ " ;
6. number of Police 6. efamn # gferm styeare™ 6 de 3
(f:]mlrnissionerates in I-ﬂllgl}r'yana. (A) 1 (B) 4
4 ) 5 %
© s (D) 3 2 B % B Lok

%, Rt d A sl MR s O%E

7. If the first half of the alphabet is written 1 "
1 for@r sime, ot gd @ 19 Tt e

in the reverse order, which of the following

will be the 19" letter from your right ? FHE-G1 8 7
(A) H (B) E A) H -

8. Which of the following are called 8. Ffafaada R df-Fam s 8 7
sac-fungi ? (A) mm

(A) Phycomycetes (B) Ascomycetes (©) AR :g‘; Q’@ﬁ'ﬂm

(C) Basidiomycetes (D) Deuteromycetes
9. FYX F .M. T3 F WU-TTY TT HY

9. Along with a computer’s IP address,

another unique number given to each ) ST F I9GM "ﬁ :
computer using Ethernet is something Gﬂrjﬁ & %@t{ﬁ :%T-’-E[ T feam
called the th'i ; _ wEdg|

(A) Port number (B) MAC address (A) 9T = (B) ¥ U™

(C) URL address (D) Virtual address

2-

(C) 4 IMTH. WH (D) T 4
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10.

11.

12.

13.

14¢

15.

16‘

17.

What is the score obtained by Haryana
in SDG India Index 2020-21 released by

NITI Aayog ?
(A) 67 (B) 57
(C) 47 (D) None of the above

“The Council of Ministers’ of Central Govt.
comes into existence only after
(A) All the Ministers have taken the Oath

of office
(B) The Prime Minister has taken the

Oath of office
(C) Allocation of portfolios
(D) Winning the confidence of Parliament
CPU speed today is measured in
(A) Picohertz (B) Gigahertz
(C) Gigabyte (D) Terabytes

How much simple interest will ¥ 2,000
earn in 18 months at 6% per annum ?

(A) T216 (B) T 240
(C) T 180 (D) T 120

In a row of 16 boys, when Prakash was
shifted by two places towards left, he
became 7" from the left end. What was
his earlier position from the right end of

the row ?

(A) 7" (B) 10*

(C) 9™ (D) 8™

How many districts are there in Haryana

at present ?
(A) 25
(C) 20

If C denotes ‘+’, D denotes *<’, E denotes &’
and F denotes -, then

(A) 3C1D8E2F4=3
(B 3SCI1DBE2F4=4
(C)3C1DBE2F4=0
(D) None of these

(B) 22
(D) None of the above

Ravi Kumar Dahiya won silver medal at Tokyo
Olympics 2020 in the weight classes of

(A) Men’s 57 kg free style

(B) Men’s 65 kg free style

(C) Men’s 74 kg free style

(D) None of the above

-_—

10.

11.

15.

16.

{7.

CFMS - 82
Y A g ST wEEsh 3fem 22 2020-21
o g #1 g @ R 7
(A) 67 (B) 57
(C) 47 (D) 374 1 | Fid T
#Fz g 6 wAiee Faa &
arg e o At 2 |

(A) Tt a7 Frtaa i g R
(B) Wﬁmﬁmu?ﬁ?

(C) T 3TEEA
(D) &&E 1 fagamd e

atrs @ dr.g, i fd g7t STeft 2 |
(a) frareds (B) eSS

(C) TrmmaTse (D) 2TETEE

6% gfeas &1 gt & 18 WeHl § T 2,000 F
Ty =T faaen grm 7

(A) T 216 (B) T 240

(C) T 180 (D) T 120
1easﬁaﬁqaaﬁﬁmma‘ra1ﬂaﬁr

2\ o RaEaTn ST &, 39 I 9l B A
7t ST | ufE F Ird SR A IHHT B

wE g Y

(A) 79F (B) 104t

(C) ot (D) 8aT

Fdur 7 e § fra et 8 7

(A) 25 (B) 22

() 20 (D) IogFa A & H1 T

7fe @ Cc IR, % F DI L, ' W E
Zuitar 2 s <« ® F ewial 8, @

(A) 3C1DBE2F4=3
(B)3C1DB8E2F4=4
(C)3C1DB8E2F4=0

(D) 0 @ &3 TE

f A < 3 Rt S 2020 # fRw
s a1 d e uee St ? o
wwiFs AR GG

(B) g&§1 & 65 form i wrEw
(C) T8I & 74 formm il wrEe
(D) Iudaa # & = 7
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18.

19,

20.

21.

22.

23.

24,

25.

Master plan of Chandigarh is analogous to
(A) Necklace (B) Bird

(C) Human body (D) Flower

Signal area of Wireless Repeater Antennae
at Tosham hill was

(A) Bhiwani (B) Fatehabad

(C) Sirsa (D) All of the above

Web Services mean the services
provided by

(A) E-mail Services

(B) World Wide Web

(C) File Transfer Protocol

(D) Hyper Text Transfer Protocol

Splitting of spectral lines in the presence
of magnetic field is called

(A) Stark effect (B) Bohr effect
(C) Sommerfeld effect (D) Zeeman effect

is a language for publishing
hypermedia on the World Wide Web.
(A) Hypermedia (B) C

(C) C++ (D) HTML

A unit equaling approximately one thousand
bytes (1024, to be exact) is called a
(A) Megabyte (B) Terabyte
(C) Gigabyte (D) Kilobyte

The first Women'’s University of Haryana
1s named after

(A) Swami Shraddhanand
(B) Swami Dayanand

(C) Bhagat Phool Singh
(D) Kalpana Chawla

Arrange the below words in a meaningful
and logical sequence,
1. Table

2. Tree

3. Wood

4. Seed

5. Plant

(A) 4,5,2,3,1

(C) 1,3,2,4,5 (D

CFMS - S2
18. SORATEmATT_ Fwwevd
(A) HIER (B) usft
- (C) 7Ma TR (D) F
19. mmmm@mwwﬁ%ﬂ%ﬂ
|
() frart (B) FETaTS
(C) T (D) 3 &ft
20, 39 darsii 1 o E e Y S =eh
Hami § |
(A) -9 Famd
(B) 92 9138 A9

(C) BT5 TR Wierhier
(D) TEW TR TER St
21. ot & i Suftufy § age it &

R gF, FEATA R |
(A) REIE  (B) Iy
(C) THTheE Y9/ (D) A T
22, 98 A1§E 9 W
BTSTCHTERT 1 ST ) 3 forw v
T |
(A) Hypermedia (B) C
(C) C++ (D) HTML
3a. UF BN 9152 (Tt 1024)%@177@33;@
FEATT B |
(A) ﬁ‘lﬁ“? (B) alalia
~  (C) Trmarse (D) et
24, E&mvn%qsénﬁmﬁﬁﬁumz;wmm
ATH 9 TE1 TR ?
(A) TR g
(B) @™ 39Tz
(C) ¥Td gt firg
(D) AT TS
ﬂ%ﬁqmmﬁﬁaﬁ@mﬁmﬁnm&mmﬁ
AR Hifvr |
1. Table
2. Tree
3. Wood
4, Seed
5. Plant
(A) 4,5,2,3 1 (B) 1,2,3,4 5
(€ 1,3,2,4,5 (D) 4,5,3,2, 1
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26.

27.

28.

29.

30.

32.

L

If PAINT is coded as 74128 and EXCEL
is coded as 93596, then what will be the
code for ACCEPT ?

(A) 547978 (B) 735961

(C) 455978 (D) 554978

A man walks 30 meters towards South,
then turning to his right, he walks
30 meters, then turning to his left, he
walks 20 meters, again turning to his left,
he walks 30 meters. How far is he from his
starting point ?

(A) 20 meters (B) 50 meters

(C) 80 meters (D) 30 meters

From a group of 7 men and 6 women,
five persons are to be selected to form a
committee so that atleast 3 men are
there on the committee. In how

many ways can it be done ?

(A) 645 (B) 564

(C) 735 (D) 756

Which interchange of signs will make the
following equation correct ?
35+7x5+5-6=24
(A) + and %

(C) —and +

(B) +and +
(D) + and -

A machine gun of mass 10 kg fires 20 g
bullets at the rate of 10 bullets per second
with a speed of 500 ms~. What force is
required to hold the machine gun in

position ?
(A) 10N (B) 200 N
(C) 20N (D) 100 N

A person crosses a 600 m long street in
5 minutes. What is his speed in km per
hour ?
(A) 8.4
(C) 7.2

(B) 10
(D) 3.6

Choose the alternative which closely resembles
mirror image of the given combination.
TARAIN1014A

(A) AMOIVIIASIAT

(B) AIOIMMIASIAT

(C) AIOIMTASIAIV

(D) AMOIVIASIAL
2
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26. X PAINT %1 %2 74128 3 EXCEL F1 %2
93596 &, @ ACCEPT &1 &2 &1 81 7
(A) 547978 B) 735961 U3 S €
(C) 455978 (D) 554978

V' wa safd afEor £ o 30 e =@ 2, e

a7 37d g8 §U 30 Hew Feren ®, fevard ggan

2 aft 20 et e B, e and g @ ok

30 Hret Ferdn ® | 98 319 AR fag @ e

w7

(A) 20 HiX (B) 50 He&X

(C) 80 HIX (D) 30 HieT

7gsﬁaﬂt6nﬁwsﬁ#an§ﬁﬁaw%ﬁaﬁ
ue aftfl &1 e 3@ TR foR S R,

fs 3 afifa i o9 @ 0 3 geu & | T fahe

FFiafFr s EEa g ?
(A) 645 (B) 564
(C) 735 (D) 756

26, Fra s M sEe-aech FQ W FEfiRad
?

., S X —&
3547 x 545 - 6 = 24

(A) + 3 _(B] + 3+
(C) -3 + (D) + 3 - .
30. mlokgm?ﬁn_awsﬁ:rmﬁ
500 ms- F 7R & 10 Tieh v &
&1 T qT 20 g I Tirferat qmTe 2 |
wef T &) feufa # e & feg
FfSa T F R ?
(A) 10N (B) 200 N
(C) 20N (D) 100 N
31, s ared s fiFe & 600 Wi Tt wH F AN
a2 | et wfd wer # S = et R 7
s (A) 8.4 (B) 10
?QE}E {lc:} 7.2 (D) 3.6
32, a8 feed IR R FEaE Fad sl |
APwe A e ? | -
TARAIN1014A @g S
(A) APIOIVIIASIAT ;f*”
18], AIOIMIASIAT ol

1€) AIOIRTASIAIV
(D) APIOIVIASIAL

~ M (_‘._LL:--"é
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33.

34.

36.

37.

Consider the following statements about
“Reading Mission” of Government of
Haryana.
I. The initiative was launched to
encourage reading habit among the
students of the State.

- The Mission has been launched on
the lines of the Central Government’s
‘Reading Mission 2022’, which aims
to address the lost glory of reading
books,

Choose the right option given below :

(A) Only the Statement II is correct

(B) Both the Statements I and II are

incorrect

(C) Both the Statements | and II are

correct

(D) Only the Statement | is correct

“WH 1270” is a new variety of which of the
following crops released by Chaudhary
Charan  Singh Haryana Agricultural
University (CCSHAU), Hisar ?

(A) Wheat (B) Walnut

(C) Barley (D) None of the above

Fakhre Haryana Award is given for
(A) Haryanvi literature '
(B) Sanskrit literature
(C) Urdu literature
(D) Hindi literature

E is the son of C. D is the

husband of C. B and G are the

only brother and daughter of D
respectively. F is the maternal

aunt of E and G. How is B related to E

(A) Nephew (B) Aunt
(C) Niece (D) Uncle

The strong magnetic field produced inside
a solenoid can be used to magnetise a
piece of magnetic material like soft iron
when placed inside the coil. The magnet
so formed is called as

(A) Electromagnet

(B) Permanent magnet

(C) Paramagnet

(D) Diamagnet

CFMS - s2

34, eheaon w3 ‘AT B’ & d
fraferfaa a7 w e =t |
1. I8 Y[eTTd U= & faenfelai ® ugl 4 ameq
%! Wiearfea w0 & forg &1 md oft |
I1. g8 fvm &g wan & Ofen fimm 2022
& vefgl v 3% R R, Rrgen @y
Y& T F @ TR H FAE B |
ﬂqﬁﬂuﬁﬁmgﬁ:
(A) FTTFUT 1 TT
(B) %7 1 3fft 11 3 srmew #
a1, lC) A 1 3 11 3 e &
o) ¥4 FUT | T B

34, “wWH 1270” Suft w7 fér whEmn wimea
RERIA (cesHAU), feam g w1 Breffas
waat & e 1€ e 2 7

(a) (B) 37ERIE

(C) sh (D) I H J 1S e
B -T-BfEIT e & foru
s 2

(A) EREme Tty

(B) ¥&Fd iR

(C) I Tt

(D) ifeey
E,caﬂgﬁlb,cmqﬁr%maﬂte,oﬂa
FHY: T A 9 G & | P, B st g Ay
M%lBﬂEﬁwﬁu%?

35.

46,

(A) wreft (B) =T=h
~ (©) WSt (D) =TT
37. @qﬁﬂ%{m%\ﬁmmwwﬁqﬁ
8 T Freeh 3 e e 2 e <
%%Qmﬁsmmtrmmaﬁgﬁ
|
(A) foge g
(B) Tt gk
(C) T
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39.
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40.

41.

42.

43.

45,

46.

Which among the following gas is
used for pre-slaughter anesthesia
of pigs ?

(A) Carbon dioxide

(B) Nitrous oxide

(C) Halothane

(D) Desflurane

One morning after sunrise, Suresh was
standing facing a pole. The shadow of
the pole fell exactly to his right. To which
direction was he facing ?

(A) West (B) Data inadequate
(C) South (D) East

Which enzyme present in the pancreatic

juice is responsible for breakdown of the
emulsified fat ?

(A) Lipase (B) Trypsin

(C) Lactase (D) Maltase
Musca domestica belongs to the class
(A) Dicotyledonae (B) Monocotyledonae
(C) Mammalia (D) Insecta

Who among the following is the Param
Vir Chakra awardee from Haryana ?
(A) Roop Chand

(B) Major Hoshiar Singh

(C) Hawaldar Lakhmi Chand

(D) Subedar Shivchand Ram

Direct recruitment of Haryana to various

gazetted and non-gazetted ranks in Police

Service shall be made through

(A) State Level Police Recruitment Board

(B) District Level Police Recruitment
Board

(C) Both (A) and (B)

(D) None of these

Bahadur Singh who won gold medal in
1978 and 1982 Asian games is an Indian

(A) Wrestler (B) Boxer

(C) Runner (D) Shot-putter
Haryana Armed Police has
battalions.

(A) 2 (B) 4

(€C) 1 (D) 5

Which of the following festival of Haryana

is celebrated after 6 days of Nav Samvatsar
Utsav and is known as Basoda festival ?
(A) Bhadliya Navami (B) Sili Sate

(C) Teey (D) Saloni

CFMS - S2

38, Fraforfima 3 @ Fxa-h A gt F #3 A
@ﬁuﬁﬁm%%nmaﬁta‘iﬁ%? |
(A) FEA ERITFEES
(B) HATFATEE
(C) Be
(D)

39. UF g YA F 912, G 0F @9 ) 317 q@
FF @l § | @Y F I 359 frega and vedh
i FF g ?

(A) ufrem (B) T2 y7ata B
(C) e (D) @
40. T W H -8 UAgy Iufeya R,
qreigd 991 F g7 & fog I R 7
mim (A) T () fofFm
s (C) (D) WTees
41. T enfew fra el @ wefia @ 7
(A) feeterasht (B) T
(C) TaTt (D)
42. efwmn A efafed 4 4 F9 mm I
e & 7
(A) ¥ =
(B) W= Riftram fae
(C) BIERR TEH! =E
(D) Ferew fira=e

43. wfamn gfer dan A fafim= e e @ st

et g @it el F wreaw | Ffi
STt =nfe |
(A) T4 Tt gfcra wdi 1S
(B) foren =g wdf =g
(C) (A) 3 (B)
(D)
44, e fie el 1978 3 1982 URrm
ﬁﬁmmgﬁm%,@ﬂm
t
(A) TETEH  (B) E
(C) UEF (D) TN Feh TR
45, e 9 "
T Bt € |
(A) 2 (B) 4
(C; 1 (D) S
46, Frefaftaa § | gEwn F -7 wen
Tagacqt I9d % 6 fel % =18 v s @
3 aTETS /YRR SHEerTd  ?
() weferan Fadht (B) faehie
(C) (D) e

-
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47.

48,

49,

50.

51.

52.

S3.

54.

— prohibits gathering of four or
more people in a specified area.

(A) Section 144 of CrPC

(B) Section 144 of [PC

(C) Section 144 of CPC

(D) None of the above

Cats belongs to the family
(A) Canidae (B) Ovidae
(C) Felidae (D) Bovidae

Role and functions of Haryana Police
(A) To prevent and detect crime

(B) To preserve public order

(C) To protect life and property

(D) All of the above

The district of Haryana which recorded

lowest child population as per census
2011 is

(A) Panchkula (B) Mahendragarh
(C) Kurukshetra (D) Faridabad

The book published by Charles Darwin’s
marked as a landmark in the study of
evolution

(A) The Selfish Gene
(B) On the Origin of Species

(C) The Emperor of all Maladies
(D) Human Biology

In a wireless network, the hub function is

performed by a wireless router, sometimes
called a

(A) Switch (B) Adapter
(C) Modem (D) Base station

You can use the keyboard
shortcut to select all files in a folder.

(A) Ctrl + Shift + B (B) Ctrl + S

(C) Ctrl + Shift + A (D) Ctrl + A
translate easy-to-understand
domain names into IP addresses.

(A) Internet Service Provider

(B) Domain Name Servers (DNS)

(C) Hosting Company

(D) IP Server

47.

48.

49,

50.

51.

52.

53

54,
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i U 8 T ek e 2 |

(A) ST 22 Bfean 6 v 144
(B) Wt 32 Higan ) urq 144
(C) i 73wt 1 umr 144
(D) 34 & & i 7

fafeerat e aftam & gey @ 3 7
(A) HF (B) 3nfash
ORIGE (D) =ifa
gl El i

(A) ﬁsﬁgﬁﬁm‘ﬂﬁfmwm
(B) S sgaen Y ufaférg wa

(C) e 3 wefey Y taq

(D) I a¥ft

o farfire g o = avferss sy

efemn =1 77 firen R 2011 $ s &

ATHR LT 1 FHEEAT A ) 1w 2
(A) TegeT (B) WEXTS
(C) FH& (D) wiemEmE

(B) 311 T AT 31w whiefty
(C) % TR T et Aot
(D) & STETS

mﬁmw%,ﬂﬁlﬁ—mﬁsﬁ
ST R |

A Fead § T FRA Y IEEE T
Ed|

(A) f&= (B) 3
(C) Hiew (D) 49 BN

g W%wfmﬁmwmﬁ

% f amg

%mmmmmil

(A) Ctrl + Shift + B (B) Ctrl + 8
(C) Ctrl + Shift + A (D) Ctrl + A

1 . 6. 951 s wan d |
(A) 3R 1 Wera

(B) 31 1 Fet (d.07.79.)
(C) BT &

(D) 3. A, et

AHH & T3 9 9y SR Tl

OE ¥!
e O
E?s;- J
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56.

57.

58.

59.

60.

61.

The normal systolic pressure of the Human
Blood pressure is about

(A) 100 mm of Hg (B) 60 mm of Hg
(C) 120 mm of Hg (D) 80 mm of Hg

The symbol of the new Britain - the British flag
(A) Old Glory (B) Union Jack
(C) Taegukgi (D) Maple leaf flag

Choose the correct option by considering

the two given statements to be true. (5

Th g

Statements : E
1. Some teachers are students.
2. All students are girls.

Conclusions :

I. All teachers are girls.
[I. Some girls are teacher.

[Il. Some girls are students.

IV. All students are teachers.
(A) Only I, 1I, III follow
(B) Only II and III follow
(C) All follow
(D) Only I follows

is the maximum number of bits
that a microprocessor can process at a

time.
(A) Memory size
(C) Clock speed

Which of the following Departments has
newly constituted in Haryana ?
(A) Chief Electrical Inspector
(B) Citizen Resources Information
(C) Food and Drug Administration
(D) None of the above
is a special type of memory that
works like both RAM and ROM.
(A) Register memory
(B) Secondary memory
(C) Flash memory
(D) Cache memory

(B) Word size
(D) Data size

The Separatist Movement of Quebecois is
related to

(A) Spain
(C) Canada

(B) Turkey
(D) Australia

-9-

55.

56.

57.

58.

59.

60.

61.
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fFrafaftas @ @ F\9-w 99a wEan & 9
YFEA a7

(A) Hg &1 100 mm (B) Hg %1 60 mm
(C) Hg &1 120 mm (D) Hg %1 80 mm

7u 39 1 vt - fafew =
(A) 3NTE A (B) IFE %
(C) AT (D) HUe S F

foq e 2 Al F F TG g AR fawe

FE R |

hdH

1. %o fners feneff 8 |
2. gt foremeff weferar & |
foreent -
.ot ferss wrsferai € |

(A) T 1, 11, 111 ST FIA &
(B) e 11 3T 111 STFETT L &
(€) ot rgET Fd &
(D) et 1 STE HTAT &
facm A rferwaw e 8, Fm o
HIZHISIETT T 97 o T 1 G ¢ |
(A) WA T SAHER (B) Y& HT HTHK
(C) =& &t 7ifd (D) 22 F IAEHR

e 8 fFrefafea § @ feg e faam &1 mee
L

(A) g forera e

(B) PTG FETEAT i g1

(C) @RI TE WA

(D) T & & S e

v faiw veR A R, St RAM
aft ROM T F T@ FH FA R |

(A) Tt and

(B) Fhslt A9l .
(C) T AEKd %%@q
(D) ¥ #HI =5
TR 0 AT HRYeH & Fay
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(a) = B) g
(G) (D) sitegferar
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62.

63.

64.

65.

66.

67.

68,
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Indian Government Agency responsible

for collecting and analysing crime data

(A) The National Crime Record Bureau

(B) Consumer Financial Protection
Bureau

(C) National Automated Finger Print
Identification System

(D) None of the above

A total of 324 coins of 20 paise and
25 paise make a sum of 71. The
number of 25 paise coins is

(A) 144 (B) 200

(C) 124 (D) 120

Kesra Ram has won the 2020 “Dhahan
Prize for Punjabi Literature” for his
anthology of short stories

(A) Zanani Paud (B) Ranj Tatt

(C) Jakari (D) None of the above

1
Ifa, b, care non-zero, a + -]; =1 and

1 )
b+ —=1, then the value of ahc is
c

(A) -1
(€) 1

(B) 3

(D) -3

Which of the following forest types majorly
found in the State of Haryana ?

(A) Subtropical dry deciduous forest

(B) Alpine forest

(C) Montane temperate forest

(D) None of the above

1
Five years ago, Vinay’s age was «5 of the

age of Vikas and now Vinay’s age is
17 years. The present age of Vikas is
(B) 51 years
(D) 9 years

(A) 41 years
(C) 36 years

Jayesh is as much younger to Anil as
much he is older to Prashant, If the sum of
the ages of Anil and Prashant is 4Ehyca.rs,
then the age of Jayesh is a

(A) 24 years

(B) 30 years

(C) Can’t be determineg

N

(D) None of these

L

)

L‘
’q/ggj/ (B) 30 ¢

62.

65.

67.

68'
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20 ¥ af 25 4 F 1 324 ol 7 e

71 N W R, @25 AR F R B
e ot g ?
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72.
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74.
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76.

77.

If ZEBRA can be written as 2652181, how
can COBRA be written ?

(A) 31822151 (B) 1182153

(C) 3152181 (D) 302181

Limestone on decomposition
produces __ ___and
carbon-dioxide.

(A) Calcium oxide

(B) Calcium hydroxide

(C) Calcium hydrogen carbonate
(D) Calcium carbonate

A Mottoof Haryana Police

(A) Sadrakshnaya Khalanighrahanaya
(B) Paritranay Sadhunaam

(C) Sewa Suraksha Sahyog

(D) Seva hi Lakshya

In the first 10 overs of a cricket game, the
run rate was only 3.2. What should be
the run rate for the remaining 40 overs to
reach the target of 282 runs ?

(A) 6.5 B) 7

(C) 6.25 (D) 6.75

This famous king was known as ‘Rai Pithora’
(A) Prithviraj Chauhan

(B) Jatwan

(C) Anangpal - II

(D) Mahipal

Who has been appointed as the Current
Chairperson of the Haryana Women
Development Corporation ?

(A) Babita Phogat (B) Neha Goyal

(C) Vinesh Phogat (D) None of the above
The type of mirror used by dentists to see
larger images of the teeth of patients is

(A) Convex
(C) Plane

(B) Plano-convex

(D) Concave

Find the missing terms.
ab__db__da__dabdab __

(A) abab (B) caca

([C) ccce (D) none of these

Complete the series.
26, 12,10, 16, ?

(A) 52

(C) 56

(B) 53
(D) 50

O

CFMS - S2
69. 4T ZEBRA ® 2652181 fora s awan 2, At
COBRA ! 41 feran smom 7
(A) 31822151 (B) 1182153
(C) 3152181 (D) 302181
70. AYYA W I F ToA 3
FAA-SEATFEES AR |
(A) FfcIram ATFTFE
(B) HfcYRM FRgEATES
(C) ¥ ETEgIeA HEAE
(D) HfTw FE2
71, hamn girg w1 aTel I R
(A) TELETE GEATEITS
(B) GFGTUTE WIYATH
(C) Ham geam
(D) &4 & A&
72. T frke & Qe § TeR 10 U H T & FaA
3.0 97 | 282 T % &7 T TS ¥ forg 99
40 3T W ¥ e g =fee 7
(A) 6.5 (B) 7
(C) 6.25 (D) 6.75
73. 3@ viag U A TE frefn’ #Ed €
(A) gt e
(B) Sieal
(C) HATITA — 11
(D)
7a. RN ufeen fyem fm ¥ adum sy &
&y 4 ford Frgem R mn 2 7
(A) ST (B) e TES
) FRmwme (D) IvgE A A HE
75. AR F g &1 921 S @3 F
foru <a fafreas! gr s fon
T T 241 R YRR S BT 7
EJE;#IA] Jdad (B) H‘hﬁﬁ
gg@gc;ma (D) et
76. @ TE T HIT |
dabcdb__da__dabdab__
(A) abab (B) caca
(C) ccce (D) 378 & F TE
T qof i |
26, 12, 10, 16, ?.
(A) 52 (B) 53
(C) 56 (D) S0
I




Www.prepp.in

78.

.l.

5
et

R

Find out the wrong term among 105, 85,
60, 30, 0, - 45, —9Q.

(A) 85 (B) -45

(C) 60 (D) 0

The pK, of acetic acid and PK, of
ammonium hydroxide are 4.76
and 4.75 respectively. The pH of
ammonium acetate solution is
(A) 7.005 (B) 7.75
(C) 4.702 (D) 8.01

If + means x, - means +, X means - and
+means+,men9+8+8-419=?

(A) 17 (B) 11
(C) 65 (D) 26

Consider the following Statements about
Indian Biological Data Centre (IBDC).

I. It is the first National repository for life
science data in India.

[. It is being established at the Regional
Centre of Biotechnology ﬁCB],
Faridabad in collaboration with the
National Informatics Centre (NIC),
India.

Choose the right option given below :

(A) Only the Statement i is correct

(B) Both the Statements I and II are
incorrect

(C) Both the Statements I and 11 are

correct

(D) Only the Statement | is correct

Six bells commence tolling together and toll
at intervals 2, 4, 6, 8, 10 and 12 seconds
respectively. In 30 minutes, how many
times do they toll together ?

(A) 10 (B) 4

(C) 15 (D) 16

Number of the triangles in the given
figure

(A) 10 (B) 12
(C) 14 (D) 8

Find the missing number,

4.5, 18, 2.25, ?, 1.6875, 33,75
(A) 25.5 (B) 43
(C) 27 (D) 35

78.

79.

so‘

81.
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105, 85, 60, 30, 0, - 45, -90 H 7Teld & gAY |

(A) 85 (B) -45
(C) 60 (D) 0
qfifesh 3 &1 pK, i s egiamE 1

pK, F91: 4.76 3 4.75 B | amitfray ofire
e Fpu

(A) 7.005 (B) 7.75

(C) 4.702 (D) 8.01

Qﬁ+mwx,—3ﬂw2+,!$lm—m
+F I+, N8B 4w0 =2

(A) 17 (B) 11

(C) 65 (D) 26

"It et (IBDC)' ¥ &R §
fraffes wu |
L wmﬁsﬁaﬁmaﬁrmmﬁwh
I, mmﬂamdﬁaﬁhmcay,m
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% vfa R s g |
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S5 (A) e o 11w

(B) % 1 3R 11 34 g §
(C) T4 1 3l 11 3 et §
(D) ¥ Fo | W &

82. mﬂ@mmwﬁﬂimﬁm:

2,4,6,8, 103k 12 ¥ F FIRA W ¥ |

30 e & feet Ay o w2
(A) 10 (B) 4
(C) 15 (D) 16
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84,
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(A) 10
(C) 14
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Calculate the efficiency of a Carnot engine
operating between 450 K and 300 K.
(A) 33.33% (B) 77.7%
(C) 26.67% (D) 66.66%

If a-b=23anda?+b?=29, find the value
of ab.

(A) 12
(C) 15

(B) 10
(D) 18

Complete the following analogy.

Country : President : : State : ?
(B) Lieutenant
(D) Chief Minister

(A) State Minister

(C) Governor

The State of Haryana falls under which
of the following Agroclimatic Zones of the

country ?

(A) Upper Gangetic Plains Region
(B) Trans Gangetic Plains Region
(C) Lower Gangetic Plains Region
(D) None of the above

Panthera leo is
(A) Lion

(C) Leopard
This district has the highest literacy rate
in Haryana as per census 2011

(A) Panchkula (B) Faridabad

(C) Gurugram (D) Bhiwani

(B) Tiger
(D) None of these

Parole means

(A) Release of offender on bail

(B) Waiver of punishment

(C) Temporary release of prisoner
(D) Remission in punishment

Central Soil Salinity Research Institute
(CSSRI) in Haryana is situated at

(A) Karnal (B) Hisar
(C) Panipat
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(D) None of the above

85.

86.

87.

91.

CFMS - 82

450 K 3 300 K ¥ ¥ qf=mier #1733 @
FETE 35 Y g Y o g |

(A) 33.33% (B) 77.7%

(C) 26.67% (D) 66.66%

IR a-b=33Ma2+b2=29%, MabF AR
A H |

(A) 12 By 10

(C) 15 (D) 18
freferRaa guegan ot I |

Iy ol TS T

(A) T=awA! (B) AfRA

(C) T B Tt

3 % Preffes § @ e Hf oy & d
whmon T e} 7

(A) 3= Mg Bt &

(B) IR i frart &

() fort i Bt &

(D) 3% # @ Ff T

ge forat w1 R 7

(A) ;W (B) &

(C) dge (D) wH A g
2011 F FETOET F mmtlﬁgﬁ
1 AT = waitew & Sf'i?;c‘
REE T (B) FieER
(C) TE™ (D) fovarht
¥irer %1 o7 &

(A) rreft T ST T e e

(B) T A%

(C) ¥ i areang feerd

(D) 8 fasvor

whcamon & #2021 FAv FTHGH W=
(CSSRI) AfRmd

(A) T (B) feam

(C) T (D) % & & wrf Tt
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93.

94.

95.

96.

97.

98.

99.

100.

If

means ‘+'. 4" means -, %' means

, then which of the
following will be correct equation ?

(A) 30+ 5 +14-10x 15 =22

(B) 30 x5-44+10+ 15 =31

(C) 30-5+14+10x15=162
(D) 104+ 5-14+10x 15 = 158 M4

+" and '+’ means ‘x’

Ay
(%)

Which among the following disease is an

example of Zooanthroponosis ?

(A) Human TB (B) Rabies

(C) Staphylococcosis (D) Brucellosis

Which of the following is the Nodal Agency

of the campaign ‘Beti Bachao-Beti Padhao’

in Haryana ?

(A) Department of Health and Family
Welfare

(B) Department of Women and Child
Development

(C) Ministry of Human Resource
(D) Ministry of Information

Functioning of Police with other agencies
of District Administration
(A) Settlement of land disputes
(B) Any external aggressions
(C) Disturbance of the public
peace
(D) All of the above

This person is famously known as
Gandhi of Haryana
(A) Lala Lajpat Rai

(B) Mulchand Jain
(C) Devilal

(D) Sir Chhotu Ram

An arrested person shall be produced
before the Magistrate within

hours.
(A) 24 (B) 48
(C) 36 (D) 12

The Harvana Police comes under

—__, Government of Haryana.
(A) Department of Finance

(B) Department of Home Affairs

(C) Department of Public Relations

(D) Department of Social Welfare

Nitrogen fixing legume-bacteria is
(A) Rhizobium (B) Anabacter
(C) Rhodospirillum (D) Plasmodium

—,

9s.

96.

97.

98.

99,

100.
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R R o I “+' hl JdAd < “
e o 30 < 7 T L A

i @ e w G E

(A) 30+ §'+ 14— 10% 19= 22

(B) 30 x5 -4+ 10 + 15 =31

[CI 30__5+14+]0115=162

(D) 10+ 5-14+10x15=158

Prrfefeaa # & -1 T LA 5

e # frefafas § 8 FH-H 96 T=e-
3R yeral’ Afme i S TS # 7

(A) TETERa T RER Fedro favm

(B) wfeen T aet forepr fanam

(C) HIHE FETYA AT

(D) 1 HAE

mmf&wwﬁ I Gt F ww
(A) S0 faamet =1 fgem

(B) I STeT SATHH

(C) TS wrifd 71 gF

(D) Ja |t

T8 =gfaa giemon & el & 9 @ wiig @

(A) AT AT T (B) HeTae o

(C) FEfrema (D) BT
finwm fove o =fdy = bk
i nfSrege % wme wegga fawn s = |
(A) 24 (B) 48

(C) 36 (D) 12

wfemon gferg TfTon TR F
Fta ofreft 2 |

(A) fam fawm

(B} ﬁﬁqm Blaled
(C) SHEy faym e 45["
(D) ST sHeror fysqry Ol
SIS e A5 3

(A) WW W (B) W

(©) AsHerfery (D) AR
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